


а)  250,237

б)  1205,48

в)  474,189

г)  3,01



25 = 32

4,23 = 74,088

37 = 2187

5,14 = 676,5201



а)  34,063

б)  238,97
в)  64,083

г)  111,25



6соток = 600 м2

1) 600 : 8 · 3 = 225 м2 занято огурцами

2) 225 : 5 · 3 = 135 м2 занято тепличными 
сортами

Ответ: 135 м2



*

К л а с с н а я    р а б о т а.

*

К л а с с н а я    р а б о т а.





50 · 2 + 20 · 2 =

50 2 М+ 20 2 М+ 140

140

50 · 2 – 20 · 2 =

50 2 М+ 20 2 М- 60

60



Распродажа сотовых 
телефонов

Прайс – лист 

3 773 6 944 7 973



30%  от  5390

5390   – 30   %

3773



Учебник:    

                   № 899;  905;  906.   



Микрокалькулятор



1) 324,579 + 46,9823

2) 8765,451 – 3987,296

3) 15,764 + 17543,2

4) 100 000 – 276,57

Вычислите при помощи микрокалькулятора:

5) 1,33 =



6) 12,09 · 0,037 =

7) 0,03765 : 0,0025 =

8) 115,6 · 2 – 13,2 : 3  =

Вычислите при помощи микрокалькулятора:

9)     38 % от 215 р. ;

10)    46 % от 0,85 р.



1) 324,579 + 46,9823

2) 8765,451 – 3987,296

3) 15,764 + 17543,2

4) 100 000 – 276,57

= 371,5613;

= 4 778, 155;

= 17 558,964;

= 99 723, 43;

Вычислите при помощи микрокалькулятора:

5) 1,33 = = 2,197;



6) 12,09 · 0,037 =

7) 0,03765 : 0,0025 =

8) 115,6 · 2 – 13,2 : 3  =

0,44733;

15,06;

226,8.

Вычислите при помощи микрокалькулятора:

9)     38 % от 215 р. ; 81,7.

10)    46 % от 0,85 р. 0,391.


